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e Please check that this question paper contains 12 printed pages.
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written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
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QT 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 J97 & [HERT 3% 398 qrgd R 1 §

(i) ¥¥7 &I 1~ 5 97 16 — 20 3fad TFHRIHE F97 &, 5780 F9% #7 1 3% & |
§9HT Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) %7 &I 6- 8 3K 21 - 23 TFHIHF J97 8, [0 J89% & 3 3% & /
Jedh &1 I GIHTIT: 60 Ieq] & 37fer 787 17 =iy |

(v)  TP7 G&IT9 - 11 37K 24 - 26 Y} TFHIHS J97 8, 15770 T39% & 4 3% & |
Jedh &1 I GIHTIT: 70 Ieq] & 37fer 781 17 =iisq |

(vi) ¥ G&IT 12-15 3R 27- 80 3 ITIcHS 397 8, 577 39% & 6 3%
g | Ye9% &7 I G 100 Isq] & 37ferw 787 817 =iisyq |

(vii) I GIET TIT FEIIHF &1 TNRT TIT IIEYT FT &1 T Ioq FH7 3 SIFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii) Question Nos. 1 -5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 6 -8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 9 — 11 and 24 - 26 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Question Nos. 12 - 15 and 27 - 30 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A

SECTION A
Teh foshdl o1 STWR A W hIs Y9 737 aial (F& fashed gin) 1
(31) ot wfcenfirar &
(%) uhIemR §
(@)  UhIhRIcHe Jiqaiiar |
(7) S @t o

A seller cannot influence the market price under (Choose the correct
alternative)

(a)  Perfect competition
(b)  Monopoly
(c) Monopolistic competition

(d) All of the above

ThTThTIcHh TTqaITTdT <hl Shis Ush Ta=ISdT 9qTsy | 1

State any one feature of monopolistic competition.

= fafy grr weh a%g il win 1 Soi 3@ el & et Srar @ 99 At (wdE
fampeg gfm) 1

(1) aeg 1 Fma et 2, @ 390 W =9 wQa 2
(9) a%g <t hma frt 3, 9@ 39 W =T e 8
(@) &g 1 hma Frel B, @ 39 W = 98 @ §
(3) g <l hIFd gl 7, A1 39 W AT Fedl @

Demand for a good is termed inelastic through the expenditure approach
when if (Choose the correct alternative)

(a)  Price of the good falls, expenditure on it rises
(b)  Price of the good falls, expenditure on it falls
(c) Price of the good falls, expenditure on it remains unchanged

(d)  Price of the good rises, expenditure on it falls
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4. T g% hl HIT & 9GR | B W Iwhed QU AHT ST & T I9H FfIRad 1

56 31 (Tt fashew gfw) - 1
(37) g I Hmd
() &g 1 AE
() w9g smEfy

(3) 3w weft

Any statement about demand for a good is considered complete only
when the following is/are mentioned in it (Choose the correct
alternative) :

(a)  Price of the good

(b)  Quantity of the good
(c) Period of time

(d)  All of the above

5.  IMERMME I <hl gitamT G | 1

Define indifference curve.

6.  3cUTed GyraAT T o1 37 3R 3Eehl fawivamd sqrsu | 3

Give the meaning and characteristics of production possibility frontier.

7. “ IcUTEd Y S AHE i AT HINT | 3
Explain the problem of “what to produce”.

8.  Uh g%l W H gig AR WA # g & = wg HINT | 3
TuaT
‘Sote 8¢’ 3R ‘aote @r o 31 FHE | 3

Distinguish between ‘increase in demand’ and ‘increase in quantity
demanded’ of a good.

OR

Explain the meaning of ‘Budget set’ and ‘Budget line’.
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9. Ui gfrfirar St “arer % SR ¥ qut 7 fosiyar Y samen fifw | 4

Explain “perfect knowledge about the markets” feature of perfect
competition.

10. U HEAIcHS 3IC@W hl TgEdl ¥ EgE HHd gfdeemdd @@ &1 19
qydnsa | 4

Explain with the help of a numerical example, the meaning of
diminishing marginal rate of substitution.

11. SR gfd 1 gieamn §@fSe | ‘mrat f Fiua’ wres 1 samen i e

%11 gfd H itgd & dehd 3 | 4
areran

e shad Tsh AT <hl SIS <hl AT ST Idl 8 3 I ANl I fOR

@ A1 &, dl Hrd 3carg 3T et IcdIg T I FGgR BT 2 TSy | 4

Define market supply. Explain the factor ‘input prices’ that can cause a
change in supply.

OR

Give the behaviour of marginal product and total product as more and
more units of only one input are employed while keeping other inputs as
constant.

12. 9 T a%] sl hHd T 10 Uid $H1E T Fgaht T 12 fd 318 Bidt 7, I g8eh!
HITAET 20 TS A B S g | SRl W I HiFd A B I
Sifse | afe sHehl g T 10 Ui 3 ¥ Sg T 13 Ufd 3T & I, a1
gl Ain-aT # R widerd aftada g 2 6
When the price of a good rises from ¥ 10 per unit to ¥ 12 per unit, its

quantity demanded falls by 20 percent. Calculate its price elasticity of
demand. How much would be the percentage change in its quantity

demanded, if the price rises from ¥ 10 per unit to ¥ 13 per unit ?
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3T | siEd fted i FA
(shrgar) | TR iEd | A () | A (%)
NI (F) | &1 (%)
1 120 40
2 60 56 232
3 54
4 30 54
5
Complete the following table :
Output | Average | Average | Marginal | Total
(units) Fixed | Variable | Cost (%) | Cost (%)
Cost (T) | Cost ()
1 120 40
2 60 56 232
3 54
4 30 54
5

14. Fafafad Afwsi ¥ 3Ted 1 98 TR 1A shifolt ST 3cdTaeh ol 3T[eehdd Ty
o (Hura @rg TR d@mra it fafer w1 oy fifse) | et 3 % fou

R G | 6
3IcqTeH (3ehT3aT) 1 2 3 4 5
FA A () 9 17 | 24 | 29 | 36
FA T (T) 11 | 20 | 27 | 32 | 85
58/3 6
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From the following data find out the level of output that will give the
producer maximum profit (use marginal cost and marginal revenue
approach). Give reasons for your answer.

Output (units) 1 2 3 4 5

Total Cost (%) 9 17 24 29 36

Total Revenue (%) 11 20 27 32 35

15. YOI STCUTUhR 37X STYUl U o i< 3T Fd1ST | STeUTashR hl “waf

o o WER FvTar” fawar A saren ff hifse | 6
YT

T dTfereR! 1 WERCT | 9 oniyed i qfd enfuem % 1o wHmIT | 3k

HIA hIFd T TG hl SATEAT HIT | 6

Distinguish between perfect oligopoly and imperfect oligopoly. Also
explain the “interdependence between the firms” feature of oligopoly.

OR

Explain the meaning of excess demand and excess supply with the help
of a schedule. Explain their effect on equilibrium price.

Qs d
SECTION B

16. TS&d =1 <kl gitamr difSu | 1

Define revenue deficit.

17. 3 Ham=a 3w yafa dwra s vafn @ fus 8, @ o & g (T

foehe giHm) 1
(31) 29 AfY=s g
(F) 29 &9 B
(@) 2% TSR &M
() 5% SIS &M
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If the marginal propensity to consume is greater than marginal
propensity to save, the value of the multiplier will be (Choose the correct
alternative)

(a)  greater than 2
(b)  less than 2

(c) equal to 2

(d equalto5b

18. | et # wfie § (T faehew i) I
(31) o=a QAT SHE IR qEfy SHe

(9) o= Qrar SHE R =T G SHd

(&) = e ST 3 ety smn

(3) @i wehr s S

Demand deposits include (Choose the correct alternative)
(a)  Saving account deposits and fixed deposits

(b)  Saving account deposits and current account deposits
(c) Current account deposits and fixed deposits

(d)  All types of deposits

19. < HgT o Yougrd o1 o 37 7 ? 1
What is meant by depreciation of domestic currency ?

20. Hid s=d S sl gRETT T | 1
Define marginal propensity to save.

21. Tk 3 JAE H He HIY | TAh ol Teh IS ST | 3

Distinguish between stocks and flows. Give an example of each.

22. I&] TOHHT YOt o =i T dTell HHId §9 i H hioATg . FHET hl
qHATRY | 3

arera
o1 & “fafma 1 mem” wr augms | 3
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Explain “difficulty in storing wealth” problem faced in the barter system
of exchange.

OR

Explain the “medium of exchange” function of money.

23. TcIY HU I YT HU H Ue HIfTT | 3k 1 Tk I U | 3

Distinguish between direct taxes and indirect taxes. Give an example of
each.

o o

24, TH AL Tqe H g | Fefeifga st @ Hiura s=a Ygia o1 aiteha

ﬁﬁm : ) 4
(37) 3 =10,000

(¥) T&ETIE 399 = 500

( UM =57 = 8,000

)
)

q

An economy is in equilibrium. From the following data, calculate the
marginal propensity to save :

(a) Income = 10,000
(b)  Autonomous consumption = 500

(c) Consumption expenditure = 8,000

25. held Sk o “Jhl I Sk hE hl AT T | 4
AUAT
TioTfS¥er Sehl g | fAwtor <hi Ufshan <A1 samea hiflv | 4
Explain the “bankers’ bank” function of the central bank.
OR

Explain the process of credit creation by commercial banks.

26. U 1 GO 1 L el YSITA TTieaAT R Il @ ? UE it ok @1 3eeon
HUEL 4

What are non-debt creating capital receipts ? Give two examples of such
receipts.
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27. AW Hgad of@l o (37) e @A IR YSia @ % S, 9901 (§) W&o
(Tamra) gl IR uTeH 8q digl o s 9g i | 6

Distinguish (a) between current account and capital account, and
(b) between autonomous transactions and accommodating transactions
of balance of payments account.

28. =¥ faftr g TP T 1 3Tehe LA TEA S HrEHTET St S =Ry
3Teh! =TT HINT | 6

AYAT

w1 ffeafiga = YRa & @ Icare | wfve fomm Smom 2 3199 3 & foig
HRT T | 6

(1) wrd # fogef swrafai grr stfsia amw
(§) NG H & gaEE § HRRA WRART % ofdd
(@) YR T S hl JAUH | Teh 1@ gRT A oy

Explain the precautions that should be taken while estimating national

income by expenditure method.

OR

Will the following be included in the domestic product of India ? Give
reasons for your answer.

(a)  Profits earned by foreign companies in India
(b)  Salaries of Indians working in the Russian Embassy in India

(c) Profits earned by a branch of State Bank of India in Japan
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29. (97) TWR oI W Tohal P 3Icdg, a1 (§) Faa U9 WsT 3™ &l

Iehe Tmplﬁm : 6
(T #gl H)
(i)  pu=TEl s TR 2,500
(i) ™ 700
(i) TatEnfSar < fafsa em 7,500
(iv) T Ifad ST =3 3,000
(v)  Tomtm 400
(vi) & 350
(vii) faesit @ fraet e 3w 50
(vii)) ToeEn =1 faa = gEaram 100
(ix) ot ucaer & 150
(x) HIgH 70
(xi) Traa fafa 40

Calculate the (a) Gross National Product at market price, and (b) Net
National Disposable Income :

(¥ in crores)

1) Compensation of employees 2,500
(i)  Profit 700
(i1i) Mixed income of self-employed 7,500
(iv)  Government final consumption expenditure 3,000
(v)  Rent 400
(vi) Interest 350
(vii) Net factor income from abroad 50
(viii) Net current transfers to abroad 100
(ix) Net indirect taxes 150
(x) Depreciation 70
(xi) Net exports 40
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30. Tou TU I 3 W S=d s YT i v ToTC ST el hgHl shl TG T
shifsre | TErfes w1 g Hifsu | 6

Given a consumption curve, outline the steps required to be taken in
deriving a saving curve from it. Use diagram.

e ETfeTiad F97 FaT giggia ahearal & 1org Jo7 J&1 30 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 30.

TSR T Aqed il dehfeush 314 aarsy | Afg refeyasen gged | 7 71,
1 B ! GHTEET Bl 8 ? THATST | 6

Give two alternative conditions of national income equilibrium. Explain
what is likely to happen, if the economy is not in equilibrium.
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